. N
Polebox 270 Q consists of: Fastener kit consists of:
Polebox 270 Q Hood 1pcs M6x16 A2-70 8pcs next O green
Roof 15 o Washer A2 7hee
- 3 i
E-no: 27007,99 . '?:rsrfper Protection 1 ggz Flat Washer A2 big 8 pcs Next Green AB www.nextgreen.se
Assembly instructions : Flat Washer A2 smal 12pcs Brudtallsvagen 14 info@nextgreen.se
Terminal Block 4pes Mé Hexagon Nut A2 7 pcs SE-792 32 MORA
All electrical installation work must be carried out by an authorized installer and Earth Terminal 1pcs Plastic C Pl 8 SWEDEN
meet the installation requirements in the country of use. \ astic Cover Plugs pcs J
4 2\ 2\
Before installation II Mount charge box 2 Polemount step 1 Polemount step 2
We recommend preparing the installation T =
before you are on site.
Material not included:
Ground cable, end sleeves, ring cable lugs, L
straps and flexibel cable. T 5
MCB/RCBO intended for horizontal T e
installation.
= ] :
Pedestal E-no 2700488 Sl v == =
1. Use the charging box drilling template and / or o i
Pole Mount E-no 2700489 measure the hogle gattern for tghe chzrging box. . . gzsg{g;ggzg;ni:gi
2. Detach the hood from the base. Wher) moyntmg on Pedestal 2790488, determine the cover plugs inythe
= 3. Drill holes and mount the charging box on the the direction of the Polebox and insert the cover unused holes R
body. NOTE! Consider how the charging box opens plugs in the unused holes. . Insta!l the distribution blocks and the earth )
and closes and avoid mounting it too close to the terminal. The feeder cable that comes up the pipe
roof part. Screws must not be longer than 12 mm on Qse Mé6x20, washer on both LM6M M6 A2 can be conngcted to the next installation via these
the inside. sides and lock nut BRB M6 A2 ~_ \_blocks/terminal. Y,
* Some chargers can be mounted so that the cable F :‘g ( Mount the hood to the base, )
runs through the hood. Make sure that the lead- BRB M6 A2 — — tjﬂu_‘ 6 Connect ground cable to the
through is tight, that the wires cannot be damaged MC6S M6X20 A2— tamper protection.
by sharp edges and that the hood can be lifted Connect the charging boxes
= when mounting on a pole. according to the manufacturer's
instructions, test the installation

J

Product specification

and install the roof.

E-number 2700799

Rated Voltage 400VAC 3~, 50-60Hz

Rated Current 80A (Cu), 63A (Al)

Installation

Systems TN/TT/IT

Installation Indoor/Outdoor

Terminal Block Eldon EKBSOAL
E-n0 2251140

Ground Block Eldon PEO17
E-no 2251030

Dimensions

without roof 270%x270x490 mm

Meets Standards/c € IEC 61439-7,
Directives RoHS, IP44,1K10

Recycle as Metal

Connect remaining
ground points to one of
the the base ground
points.

Connect cable
between earth
terminal and base
ground point

Prepare the ground cable

for the tamper protection

and connect it to the base
ground point. The tamper
protection will be

connected at a later stage.

Install and connect
MCB/RCBO. Max 6mm2
cabel between distribution

block and MCB/RCBO. is then pushed back into the Polebox. If
Qround cables are connected with 1pc ?iz(s:essary, relieve the cables with cable washers on the outside
joint washer and 1pc hexagon nut. . of the hood and small
washer on the inside.
. AN J

Connect the flexible cable between the
MCB/RCBO and the charger(s) through
the bottom holes in the base. Excess cable




Polebox 270 Q

E-nr: 2700799
Monteringsanvisning

Allt elinstallationsarbete maste utféras av en auktoriserad installatér och uppfylla

installationskraven i anvandningslandet.

Infér installation

Rekommenderas att forbereda innan man
ar paplats.

Material som inte ingar:

Kabel, jordkabel, andhylsor, ringkabelskor,
buntband flexibel kabel,
personskyddsautomat/sakring som far
monteras horisontellt.

=
Piedestal E-nr 2700488

Stolpfaste E-nr 2700489

I

Produktspecifikation

E-nummer 2700799
Markspanning 400VAC 3~, 50-60Hz
Markstrém 80A (Cu), 63A (Al)
Elsystem TN/TT/IT
Installationsplats  Inomhus/Utomhus
Fordelningsplint  Eldon EKBSOAL

E-nr 2251140
Jordplint Eldon PEO17

E-nr 2251030
Dimensioner utan 270x270x490 mm

tak
C

Metall

IEC 61439-7,

Uppfyller RoHS, IP44, K10

Atervinning

-

4 N\
Polebox 270 Q bestar av: Skruvsats innehaller:
tot MexisAz70 ot next O green
Tak 1st M6x20.A2-7O 4 st
Underdel 1st Taggbr_lcka A2 7 st
Petskydd 1ot Planbricka A2 stor 8st Next Green AB www.nextgreen.se
Fordelningsplint 4t Planbricka A2liten 125t EEL—J%%I%?\AQSSAM info@nextgreen.se
) R Mé Sexkantsmutter A2 7 st
ordplint 1st Tickplugear 8st SWEDEN
\_ plugg, J
-

Montering laddbox

1 T

424 |

216

= - o

==

1. Anvénd laddboxens borrmall och/eller matta in
halbild fér laddboxarna.

2. Demontera huven fran underdelen.

3. Borra och montera laddboxarna pa huven

OBS! Tank pa hur laddboxen 6ppnas och stings och
undvik att montera den fér néra Poleboxens tak.
Skruvar far inte ta i nadgot (kablage m.m ) pa insidan
av Polebox

*Vissa laddare kan monteras sé att
kabeldragningen gors genom huven. Var noga med
att genomfdringen blir tat, att kablaget inte kan
skadas av vassa kanter och att huven kan lyftas vid
montering pa stolpe.

Stolp

riktning pa Polebox och satt i t.
hél som inte anvands.

Anvand Méx20, bricka pa bada
sidor och lasmutter

Vid montering pa Piedestal 2700488, bestdm

montering 1

N Vid montering pa
Stolpfaste 2700489, satt i
tackpluggarna i de hal som

ackpluggarnaide N -
inte anvands.

LMeM M6 A2 —_
BRB M6 A2 — =

BRB M6 AZ—*";__J_[
MC6S M6X20 A2—

Stolpmontering 2

I

Montera férdelningsplintarna och jordplinten.
Matarkabeln som kommer upp i réret kan kopplas

vidare till nasta installation via dessa plintar.
\\§

J

Vs

Skruva fast huven pa underdelen,
montera och anslut petskyddets
jordkabel.

Koppla in laddboxarna enligt
tillverkarens anvisningar, testa
installationen och skruva sedan

Jordkabel

Ovrig kabeldragning

Koppla jordplinten
till jordpunkten i
underdelen.

Ovriga jordpunkter i
boxen kopplas samman
och ansluts till en av
underdelens jordpunkter.

Forbered jordkabeln till
petskyddet och anslut till
jordpunkten i underdelen.
Petskyddet ansluts senare

Montera och anslut
MCB/RCBO. Max 6mm2
kabel fran férdelningsplint

Dra flexibel kabel fran MCB/RCBO till

laddboxarna via genomfoéringarna i

bottenplattan. Overskottet skjuts tillbaka

fast taket.

tillMCB/RCBO. iniPoleboxen i
Vid behov, avlasta kablaget med buntband. OBS! Anvind de stora
Jordpunkter monteras med brickorna pé utsidan av
taggbricka och mutter. huven och liten bricka
N\ /) \_pd insidan nere.

~N




	Bild 1: Polebox 270 Q E-no: 2700799  Assembly instructions 
	Bild 2: Polebox 270 Q E-nr: 2700799  Monteringsanvisning 

